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Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Amount of solar energy received on the
earth’s surface per unit area per unit ime
is defined a solar constant. Dimension of
solar constant is :

Options :
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A particle is moving unidirectionally on a
horizontal plane under the action of a
constant power supplying energy source.
The displacement (s) - time (t) graph that
describes the motion of the particle is
(graphs are drawn schematically and are
not to scale) :
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A block of mass 1.9 kg is at rest at the edge
of a table, of height 1T m. A bullet of mass
0.1 kg collides with the block and sticks to
it. If the velocity of the bullet is 20 m/s in
the horizontal direction just before the
collision then the kinetic energy just before
the combined system strikes the floor, is
[Take g=10 m/s®. Assume there is no
rotational motion and loss of energy after

the collision is negligable.]
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A uniform rod of length ‘I is pivoted at
one of its ends on a vertical shaft of
negligible radius. When the shaft rotates
at angular speed w the rod makes anangle
0 with it (see figure). To find 0 equate the
rate of change of angular momentum
(direction going into the paper)

mi?

3
wsin® cosfl about the centre of mass

(CM) to the torque provided by the
horizontal and vertical forces Fyy and Fy,
about the CMW. The value of 8 is then such

that :
Options :
cosll = ?'2
40503640023. 2l
cosll = L'z
40503640024, lw
30
cosll = ?'2
40503640025. 2w
2o
cosl) = , '2
40503640026. 3w
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The mass dc-nsit}-' of a pIanc-t of radius R

varies with the distance r from its centre as

.
ro —
p(r) = po{ 1 —,{,W Then the gravitational
\ R" )
field is maximum at :
Options :
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A metallic sphere cools from 50°C to 40°C
in 300 s. If atmospheric temperature
around is 20°C, then the sphere’s
temperature after the next 5 minutes will
be close to :

Options :
40503640031, 28°C

40503640032, 1°C

40503640033, 33°C

40503640034, 35°C
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A calorimeter of water equivalent 20 g
contains 180 g of water at 25°C. “m’ grams
of steam at 100°C is mixed in it Gll the
temperature of the mixure is 31°C. The
value of ‘m’ is close to (Latent heat of

water=540 cal g L specific heat of
water=1 cal g~1 °C~})
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To raise the temperature of a certain mass
of gas by 50°C at a constant pressure,
160 calories of heat is required. When the
same mass of gas is cooled by 100°C at
constant volume, 240 calories of heat is
released. How many degrees of freedom
does each molecule of this gas have
(assume gas to be ideal) ?
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40503640042, 7
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A block of mass m attached to a massless
spring is performing oscillatory motion of
amplitude ‘A" on a frictionless horizontal
plane. Ifhalf of the mass of the block breaks
off when it is passing through its
equilibrium point, the amplitude of
oscillation for the remaining system
become fA. The value of fis:

Options :
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Hydrogen ion and singly ionized helium
atom are accelerated, from rest, through
the same potential difference. The ratio
of final speeds of hydrogen and helium
ions is close to:
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40503640048, 10:7
40503640049, 1:2
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Concentric metallic hollow spheres of radii
R and 4R hold charges Q; and Q,
respectively. Given that surface charge
densities of the concentric spheres are
equal, the potential difference V(R) — V(4R)
1S :

Options :
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40503640051, *TEOR

3Q;
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Two resistors 4002 and 800{) are

connected in series across a 6 V battery.
The potential difference measured by a
voltmeter of 10 k{} across 400() resistor is
close to:
Options :

40503640055, 2V

40503640056, 1.95V
40503640057. 1.8V

40503640058, 205V
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A perfectly diamagnetic sphere has a
small spherical cavity at its centre, which
is filled with a paramagnetic substance.

The whole system is placed in a uniform

magnetic field _E: Then the field inside

the paramagnefic substance is :

Options :

much large than ‘B‘ and parallel to

40503640059, B

much large than ‘B‘ but opposite to

—

40503640060. B
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A uniform magnetic field B exists in a
direction perpendicular to the plane of a
square loop made of a metal wire. The wire
has a diameter of 4 mm and a total length
of 30 cm. The magnetic field changes with
time at a steady rate dB/dt=0.032 Ts J
The induced current in the loop is close to
(Resistivity of the metal wire is
1.23 x 10 8 (im)
Options :

40503640063, 061 A

40503640064, 043 A
40503640065, 0-34 A

40503640066, U-23 A
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40503640066, U-23 A
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The electric field of a plane electromagnetic
wave propagating along the x direction in

vacuum is E =E, .’,r:cns(mt kx). The

i
magnetic field B,at the moment t=0is:

Options :

B =Ejnaen coslkx k
40503640067. 0yHoc cos(icx)

B = fﬂ_ cos(kx)k
40503640068. vE0%0

B = Ey noeo cos(kx) j
40503640069,

ot E
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Two light waves having the same
wavelength A in vacuum are in phase
initially. Then the first wave travelsa path
L, through a medium of refractive
index n,; while the second wave travels a
path of length L, through a medium of
refractive index n,. After this the phase

difference between the two waves is :

Options :
2w | Ly !:1}
%
40503640071. o AR
.27.’ . )
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40503640072. A
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Two sources of light emit X-rays of
wavelength 1 nm and visible light of
waveleng th 500 nm, respectively. Both the
sources emit light of the same power
200 W. The ratio of the number density of
photons of X-rays to the number density of
photons of the visible light of the given
wavelengths is :

Options :

3
40503640075. 220

40503640076. 250



1
40503640077, 200

40503640078, 200
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40503640075, 220

40503640076. 250

40503640077. 200

40503640078, 200
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The radius R of a nucleus of mass number
A can be estimated by the formula
R=(1.3x10"1)AY3 m. Tt follows that
the mass density of a nucleus is of the order
of : (M. =M 1.67 x10~% kg)

prot. neut —

Options :



3 3
40503640079, 107 kg m

10 3
40503640080, 10 kgm

17 3
40503640081, 10 kgm

24 3
40503640082, 107 kgm
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3 3
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17 3
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24 3
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If a semiconductor photodiode can detect
a photon with a maximum wavelength of
400 nm, then its band gap energy is :
Planck’s constant h=6.63 x 10~ J.s.

Speed of light c=3x10" m/s



Options :
40503640083, >-1eV

40503640084, 1-1€V

40503640085, >0V

40503640086, 1.5eV
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40503640083, 3-1eV

40503640084, 1-1eV

40503640085, >0V

40503640086. 1.5eV
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Which of the following will NOT be
observed when a multimeter (operating in
resistance measuring mode) probes
connected across a component, are just

reversed 7

Options :



Multimeter shows an equal

deflection in both cases i.e. before and

after reversing the pmbes if the
40503640087, chosen component is resistor.
Multimeter shows NO deflection in
both cases i.e. before and after

reversf_ng the prohes if the chosen

40503640088. component is capacitor.

Multimeter shows NQO deflection in

both cases i.e. before and after

reversing the probes if the chosen
40503640089 component is metal wire.
Multimeter shows a deflection,
accompanied by a splash of light out
of connected component in one
direction and NO deflection on
reversing the probes if the chosen

40503640090 component is LED.
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A block starts moving up an inclined plane
of inclination 30° with an initial velocit}-'

of v,. It comes back to its initial position

Up
2

The value of the

with velocity

coelficient of kinetic [riction between the

block and the inclined plane is close to

I . :
——, The nearest integer to I is
1000
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Anmassless equilateral triangle EFG of side

‘a’ (As shown in figure) has three particles

of mass m situated at its vertices. The

moment of inertia of the system about the

line EX perpendicular to EG in the plane of

N 7
EFG is T111:1‘ where N is an integer. The

valueof Nis
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If minimum possible work is done by a
refrigerator in converting 100 grams of
water at 0°C to ice, how much heat (in
calories) is released to the surroundings at
temperature 27°C (Latent heat of
ice =80 Cal/ gram) to the nearest integer ?

Response Type : Numeric
Evaluation Required For SA : Yes
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5t0 5.002
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1 =9 F19 F gC AF H T2l ¢ of THE
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A galvanometer coil has 500 turns and each

turn has an average areaof 3 X 10~ 4 m?, If

a torque of 1.5 Nm is required to keep this

coil parallel to a magnetic field when a

current of 0.5 A is flowing through it, the

strength of the field (in T) is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.002
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When an object is kept at a distance of
30 cm from a concave mirror, the image is
formed at a distance of 10 cm from the
mirror. If the object is moved with a speed
of 9 cms™ !, the speed (in cms 1y with

which image moves at that instant is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :
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Correct Marks : 4 Wrong Marks : 1
An ionic micelle is formed on the addition
of :
Options :
liquid diethyl ether to aqueous NaCl

40503640096, Solution

excess water to liquid

it

. P o
N.. N PFg

'\1/'-' \'\:’f \ =)

C CH,

40503640097.

40503640098. sodium stearate to pure toluene



excess water to liquid

“ -
e .-'{/ 2
.

e : ;
40503640099. H,C CH,
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T At e w9

Options :
=9 U T4 ol Feitd NaCl oo

40503640096, 1 =1 9T
W - ST 1 29
Ne BN PR g
= ol T
40503640097 '3 3
40503640098, neaH FTCIE T & TCTe H Sfef T
- A Fl =9
N.. _N ¥ 4
Ao N
H;C CHj,
40503640099, 1 o1 T

Question Number : 27 Question Id : 40503611032 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
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100 mL of 0.1 M HCI is taken in a beaker
and to it 100 mL of 0.1 M NaOH is added
in steps of 2 mL and the pH is continuously
measured. Which of the following graphs

correctly depicts the change in pH ?



Options :

40503640100. ?

40503640101. —_—
//!
]:}H ? "';7
v
f/
vol, of NaQH
40503640102. —
7 -
pH ]
vol, of NaQH

40503640103. .
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0.1 M HCI % 100 mL =l T =t | feran
STl @ @4 59 0.1 M NaOH % 100 mL 1
2 mL % & H STl W T 99 59H pH
=R =T ST 2@ | pH H 9iEda & e
foru Freffrfin sl 4 & i W 37
Options :



40503640100. e

40503640101. —

40503640102. —

NaOH =1 S d4
40503640103. ‘
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Consider the fnllowing molecules and

statements related to them :

O,
(O]

R W
@ — ¢ B

(a) (B) is more likely to be crystalline
than (A)
(b)  (B) has higher boiling point than (A)
(c) (B) dissolves more readily than (A)
in water
Identify the correct option from below :
Options :

40503640104, (@) and (b) are true

40503640105, 0Ly (a) is true

40503640106, (@) and (c) are true

40503640107, (P) and (c) are true
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7 sl v 39 gEiaa FEE W fEER
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(b) (A) H (B) =1 Fa«iH 3 2|

(c) (A) I & H (B) Wieal | WA H g4
Eiik

=1 | 9 e fasew 93 -

Options :

(a) T4 (b) T T
40503640104.

40503640105, T (a) T T

10503640106, (3) T () T T

40503640107, (©) T () B gl
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, S
For the reaction 2A + 3B 4 ;{_ — 3P,

which statement is correct 7

Options :



dny _ 3 dng _ 3 dnc
40503640108, 4t 2 dt 4 dt
dnp _ 2 dng _ 3 dnc

40503640100, dt 3 dt 4 dt
.dn_;.,l B E dng i dnc

3 dt 3 dt

40503640110, At

dny, dng dnc

dt dt dt

40503640111.
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: 3 2
aAfafsean 2A + 3B+ —~C — 3P F feu =m

1 FIA A& 22
Options :

dny _ 3 dng 3 dnc
40503640108, dt 2 dt 4 dt

dny 2 dng _ 3 dnc

40503640109, 49t 3 dt 4 dt

dny

40503640110, At

dny dng dng¢
dt dt dt

40503640111.
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Consider the hypothetical situation where
the azimuthal quantum number, I, takes
values 0, 1, 2, ...... n+ 1, where n is the
principal quantum number. Then, the
element with atomic number :

Options :

4 v r '} T
40503640112, b has a 2p valence subshell

40503640113 8 is the first noble gas

40503640114. 0 is the first alkali metal

40503640115, 13 has a hall-filled valence subshell
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Options :

6 I T 2p-TATeThal SUHITIH # |

40503640112.
40503640113, 8 T TFE TR
40503640114, 9 T SA T T
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A mixture of one mole each of HEr He and
O, each are enclosed in a cylinder of
volume V' at temperature T. If the partial
pressure of H, is 2 atm, the total pressure
of the gases in the cylinder is :

Options :

40503640116, 22 atm

40503640117, 6 atm
40503640118, 14atm

40503640119, 38 atm
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H,, He 91 O, Wod% % UF Hiel & a0 =i
I T T AT V 9 fafe=t | 3= fan
E 6 WﬁHzﬂﬁ%Eﬁzatm%,ﬁT
fafere § 711 =1 wegul a2

Options :

40503640116, 22 atm

40503640117, 6 atm
40503640118, 14 atm

40503640119, 38 atm
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The five successive ionization enthalpies of
an element are 800, 2427, 3658, 25024 and
32824 k] mol~!. The number of valence

electrons in the element is :



Options :
40503640120, 4

=]

40503640121
40503640122, 3

40503640123, 9
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UF dcd H1 U9 ST AFA el
800, 2427, 3658, 25024 @41 32824 k] mol !
€1 = H GAshd soiaeiAl #1 @ ¥

Options :

40503640120, 4

]

40503640121.
40503640122, 3

40503640123, 2
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The strengths of 5.6 volume hydrogen
peroxide (of density 1 g/mL) in terms of
mass percentage and molarity (M),
respectively, are :
(Take molar mass of hydrogen peroxide
as 34 g/ mol)

Options :

40503640124, 1.7and 0.25



40503640125, U-85and 0.5

40503640126, V-85 and 0.25

40503640127, 1.7and 0.5
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5.6 A BIelsH WEAEe (99 1 g/ mL)
T qererdl, Gefd Siaeradn a91 Jeniet (M) &
w9, A T
(BTEST9H T-AEEEE &1 Hiel g99H
34 g/mol =)

Options :

40503640124, 17 7025

40503640125, U-85 T 0.5

40503640126, 0-85 41 0.25

40503640127, 1.7 A410.5
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Among the statements (I — IV), the correct

ones are :

() Be has smaller atomic radius

compared to Mg,

(IT) Be has higher ionization enthalpy
than AL

(ITI)  Charge/radius ratio of Be is greater
than that of AL

(IV) Both Be and Al form mainly covalent

co mpounds.

Options :
40503640128, (D (IT) and (IID)

40503640129, D (I and (IV)

40503640130, (), (D) and (IV)

40503640131, (D, (II) and (IV)
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FE ([ - V) H 8 T FAE
() Mg =i o H Be =il TTH 5= B2t

Z

(1) Al 7 279291 Be %1 A5 T=Iedl i
Z

(II) Al &1 391 Be &1 31991/ B 19ma
Aferr Z |

(IV) i Be G41 Al H&A: HeEaras AMTH
T

Options :

40503640128, (D (I T (1)

40503640129, (D, (IT) T (IV)



40503640130, (1), (ILT) T (IV)

40503640131, (D (1) 1 (1V)
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The incorrect statement is :
Options :
Manganate and permanganate ions

40503640132, are tetrahedral

Manganate and permanganate ions
40503640133, &F€ paramagnetic
In manganate and permanganate
ions, the w-bonding takes place by
overlap of p-orbitals of oxygen and

40503640134, d-orbitals of manganese

Manganate ion is green in colour and

40503640135, permanganate ion is purplr_- in colour
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TeAd H 7 :
Options :

40503640132, ©
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Complex A has a composition of
H,O,ClyCr. If the complex on treatment
with conc. H,50, loses 13.5% of its original
mass, the correct molecular formula of A
IS :
|Given : atomic mass of Cr=52 amu and
Cl=35amul]

Options :

40503640136, L FHLO)CCL - H0

40503640137, LF(H0),CLICT - 2H,0

140503640138, |Cr(H20)3Cl5] - 3H,O

40503640139, LF(FLO)6ICh
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[fe=n 7= & : W) Wefd Cr=52 amu a9
Cl1=35 amul]



Options :

40503640136, | X (H20)5CIC, - HO

40503640137, LCr(H0),CL]Cl- 2H,0

40503640138, |CFH0)3CL] - 3H,0

40503640139, L (F20)6lCL3
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The d-electron configuration of
[Ru(en);]Cl, and  [Fe(H,0),]|Cl,,
respectively are :
Options :
o o8 =
1:_Z:r D:r '-:I-r'-d 1:_Z:r D:r
40503640140, © © 58

(&} 0 i 0
t3, €, and t5, €,
40503640141, & B 2g €g

4 2 6 0
t r By i d. i y Eor
40503640142, 26 "8 ANC t2g T
5 b o A
ty, €, and t;, €,
40503640143, © B g 8
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[Ru(en),]CL, 71 [Fe(H,0),]CL, F d-e2
= &9 © -
Options :

2

tgg '-F—'é G tgﬁ DE

40503640140.
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s0s036a0141, 28 € g 2 g

4
ts, r_- GE2 tz
40503640142, ° : 2

'5
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The incorrect statement(s) among (a) — (d)
regarding acid rain is (are) :

(a) It can corrode water pipes.

(b) It can damage structures made up
of stone.

(c) It cannot cause respiratory ailments
in animals

(d) Itis not harmful for trees

Options :

40503640144, (3)- (b) and (d)

40503640145, (3)- () and (d)

140503640146, (©)and (d)

40503640147, () only
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sl aw % we § F (2) - (d) F
Ted o 278 -
(a) IE WA % SUl I Heqfd a2 |
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Tl
& & g 2
(d) =& TS % for iR T T
Options :
40503640144, (2)- (b) T (d)

40503640145, (@) (€) 41 (d)

40503640146, (& T (d)

40503640147, (©) A
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The increasing order of the reactivity of the
following compounds in nucleophilic

addition reacton is :

Propanal, Benzaldehyde, Propanone,

Butanone
Options :
Propanal < Propanone < Butanone <
40503640148, benzaldehyde

Bc-nzaldc-h}-'de < Pmpanal <

40503640149, Fropanone < Butanone

Benzaldehyde < Butanone <

40503640150, Propanone < Propanal



Butanone < Propanone <

40503640151 benzaldehyde < Propanal
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faefafga atfrat #1 Tfawet gime
sAfafamanadi § sAfafmarsiicran =1 @z w9 2 :
Options :
40503640145, 1 < T < T < Fsiifezeree

= - ” = . o » -
40503640140, RS ALELE CALLR S ST

n

40503640150, T oMCSEIRS <=M < W < A4

n m s omom » = < =
40503640151, A <A ITICSRIEE < H9Fer
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Consider the following reaction :

OH)c

= - CH
~ |H L. JOHb

OfDa

Chromic .,

—_———— e
anh}rdride

The product ‘P’ gives positive ceric
ammonium nitrate test. This is because of
the presence of which of these —OH
group(s) ?

Options :

40503640152, () and (d)



40503640153, (©) and (d)

40503640154, (P only

40503640155, (4 only
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ﬁ rx- ﬁ aq_r ﬁ _q{ [ ﬂﬁ :

) OH)c
TED O s e i
”] F OBb_ @),
FHE

ey S4B 1 92 59 ¥ R — OH "9 =+
Jufefd & R &2
Options :
40503640152, (©) T (d)

40503640153, (©) T (d)

40503640154, (P) FMA

40503640155, () A
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Three isomers A, B and C (mol. formula

CgHyN) give the following results :

AandC Dhiaeobizatbion P+Q I.i,'l:IHI'_‘:m!" s E (produd of A)
e S (product of C)
EMrOg+HY)

R has lower Ixrﬂi_ng point than S

g —CellsS0:Cl | alkali-insoluble product

A, B and C, respectively are:

Options :

_ CHyCH, _ CHNHCH, MH;
|_ CHyCHy
40503640156. ok
_R/r.l LCHy  NHCHCH, - MHa
40503640157, ™" Y
_ NH; _ CHNH, _ NH;
e e nd
: ~.____.\L.H2L_H3 . xl. Ilf .
40503640158. CH CHZCH,
. NH, . CHMECH, CH,CH;
40503640159. S HyN

Question Number : 41 Question Id : 40503611046 Question Type : MCQ Option Shuffling : Yes
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@ THEEEEl A, B @91 C (3R CgH,,N)

=
freferfiaa aftoms =9 2
. i () W  R(AFTIR)
ATNC———— P+Q — e ErI
) SR S (C 31 3R )
(EMnry <H™)

R & FEIHF S T FH T

g _CeHsSO:Cl | gR—sTerToiiel Ses
A, B9 C FHT: & :
Options :




_ CH,CH, _ CH,NHCH, NH,

I CHACH,
40503640156, "™
CHLCH, _ NHCH,CH, ~ NH,
e e e
40503640157. " | - CHCTy
NH, CHLNH, NH,
' \.--"'\L'Hzl'.'l':ﬁ . | |
40503640158. CH CHyCH;
_ NHy _ CH;NHCH; CH,CHs,
‘_’ S ) ! /~ .
40503640159. SRR HN

Question Number : 42 Question Id : 40503611047 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The decreasing order of reactivity of the
following compounds towards
nucleophilic substitution (S,2) is :

CH,CI CH,Cl
| |7 No,
\ /_\--..__‘/
o . -
— —"\NO,
(1) (IT)
CH,Cl
, 6|
O,N NO,
(I) (IV)

Options :
40503640160, 1D > (D) > (IV) > (@)

40503640161, (V) > (I) > () > (T)



40503640162, W = () > () > (V)

40503640163, (1) > () > (IV) > (T)

Question Number : 42 Question Id : 40503611047 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Correct Marks : 4 Wrong Marks : 1
frafafaa dtfei #t Tfgwrd gfaerm
(Sx2) T W SAffEHaTfieT 1 =2m #9 ¢ :

CH,Cl CH,Cl

l ,fNOl
—\NO,
(@ (ID)
CH,Cl CH,Cl
[ NO o,N ~ 'NO,
NO,
(I1L) (V)

Options :
I
40503640160, 1D > (D) > (IV) > (@)

40503640161, (IV) > (1) > (IIT) > (I)

40503640162, O > () > (D > (V)

40503640163, (1) > () > (IV) > (T)

Question Number : 43 Question Id : 40503611048 Question Type : MCQ Option Shuffling : Yes
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Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match the [ Dllr}wing drugs with their

ther apeu’ric actions :

(i) Ranitidine (a) Antidepressant

(i) Nardil (b)  Antibiotic
(Phenelzine)

(iif) Chloramphenicol (c)  Antihistamine

(iv) Dimetane (d) Antacid
(Brompheniramine)

(e) Analgesic
Options :
10503640164, V(D) ()-(c); (iii)-@); (iv)-(e)

40503640165, V(D) (H)-@); (HB); (v)-(c)

240503640166, D-(€); ({)~(a); (iii)-(c); (iv)-(d)

10503640167, D-@); (i)-(c); (iii)}-(b); (iv)-(e)

Question Number : 43 Question Id : 40503611048 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

o Y AT iy ;
(i) A (a) wiasEaEF
(i) Rfea (fFafeem) (b) wiaofas
(iii) FALERTTHT (c) wfareeefi
(iv) =158 (d) wfa-sma

(R

(e) TrseRl

Options :

10503640164, V(@) (H)-(c); (ii)-(a); (iv)-(e)

40503640165, D)7 (H)-(@); (H)-(b); ()-(c)



40503640166. (1)-(e); (ii)-(a); (iii)-(c); (iv)-(d)

10503640167, \U-@); (iD)-(c); (iii)-(b); (iv)-(e)

Question Number : 44 Question Id : 40503611049 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The compound A in the following
reactions is :
(i) CHaMgBr /150
(i) Conc. HoSO4 /A

(i) O,
(ii) Zn/H,O

s+ D

N Come KOH | o .\, =
i - \\ Jo—E00NK
(if) A

{ O »—CH,O0H

CH; O
Ba(OH), -1 i
— %, HyC-C=CH-C-CHj;
A
Options :
0
Il , CHy
CeHs—C—-CH
40503640168. CH,
R
Hs —C—CH
40503640169, 6115~ CHs
0
40503640170, —6Fis— CHa—C—CHj

O

I
CgHgs — C—CH,CH;
40503640171. g "
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Correct Marks : 4 Wrong Marks : 1
fafafan sfufmane § 9ifms A T
(i) CH4MgBr /H,0
(ii) A= H.S04 /A

W, C+D
(i) £ny a0

- () &5 KOH

2l |

(i) A
O —CH,0H
T q
Ba(OH
-\l H,C—C=CH-C—CH,4
i
Options :
0
I , CHj
CﬁHS_C_CH\
40503640168, 5
W
C.H:—C—CH
40503640169. ¢ 3
0
40503640170, ~6F1s— CH2—C—CHs
i
C¢Hs— C—CH,CHj
40503640171. : =

Question Number : 45 Question Id : 40503611050 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option



Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The major pmduct in the fnﬂf}wing

reaction 1s :

1
| l t-BuOH
[ Heat
Options :
40503640172
40503640173, |
40503640174, 7
Ot-Bu
o
40503640175. l

Question Number : 45 Question Id : 40503611050 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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i Afufwane ¥ qe 3 T
|
I }\ t-BuOH
] e

40503640172.

40503640173. |



40503640174.

) C])t-Bu
40503640175. l
Sub-Section Number : 2
Sub-Section Id : 405036770
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 40503611051 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

6.023 x 10?2 molecules are present in 10 g
of a substance ‘x’. The molarity of a
solution containing 5 g of substance “x’ in
2 L soluton is X103,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 46 Question Id : 40503611051 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

1Eﬁ‘ilﬁﬁfl ‘¥ & 10 g H 6.023 x 1022 I
2 L faema ® wmid ‘v #15 g 7, @M
x10-3 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002



Question Number : 47 Question Id : 40503611052 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If 250 cm® of an aqueous solution

containing 0.73 g of a protein A is isotonic

with one litre of another aqueous solution

containing 1.65 g of a protein B, at 298 K,

the ratio of the molecular masses of A and

B is %10 "2 (to the nearest

integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 47 Question Id : 40503611052 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

WWH%WWWWRCH@
fo|H A #1073 g ¥, WA B F UF w@A
faeam fome 1 &fiee § W2F &1 1.65 g T,
298 K W GHTEN § A 991 B F anfvas
wefaal &1 9@ T x 102
(Teeas Jui) |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 48 Question Id : 40503611053 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0



An acidic solution of dichromate is
Dlectrol}-’zed for 8 minutes using, 2A

current. As per the fnllnwmg equation

CrnO3 +14H +6e” 52 G +7 H,0

The amount of Cr’* obtained was 0.104

g. The efficiency of the process(in%)is
(Take : F=96000 C, At. mass of

chromium=>52) _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 48 Question Id : 40503611053 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

STSHIHE T UF A faera= =i 2A faemym
1 ITAM FF 8§ Az o Sea sroEteq e
T | TEfEfET THE % SEE W
Cry03~ +14 H* +6 e 52 Cr** +7 H,0
a1 Cr?* &1 sHferd /= 0.104 g & S |
WeH i SHdl (% H) T (WH : F=96000 C,
FIFFFH & WHY] HaEfd=52)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText
Possible Answers :

5 t0 5.002

Question Number : 49 Question Id : 40503611054 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0



The volume (in mL) of 0.1 N NaOH
required to neutralise 10 mL of 0.1 N

phosphinic acid is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 49 Question Id : 40503611054 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

0.1 N FifeRH+ 379 F 10 mL F I==H
FH & fAU 3 mE99s 0.1 N NaOH &1 3180
(mLff}%_ [

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 t0 5.002

Question Number : 50 Question Id : 40503611055 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

AN
The number of /i. =0 groups present in a

ttipepfide Asp -Gl — L}-'s is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 50 Question Id : 40503611055 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0



TF ¢ I’;_-EIE gS, Asp—Glu—Lys H 3Iufeeq
C=0 = %1 g T
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.002

Mathematics
Section Id : 405036402
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Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 100
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Mark As Answered Required? : Yes
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Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 40503611056 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let B | and R2 be two relations defined as
follows -

R,={(a, b) e R2:a2+b?e Q} and
R,={(a,b)e RZ: a>+b%e Q}, where Qis the
set of all rational numbers. Then :

Options :

R, and R, are both transitive.
40503640181. o

40503640182 Rl is transitive but R2 is not transitive.



40503640183, R, is transitive but R, is not transitive.

Neither R, nor R, is transitive.
40503640184. B

Question Number : 51 Question Id : 40503611056 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
& R, 1 R, A fag e ¥
R,={(a, b) e R?:a’ + b e Q} T
R,={(a, b) e R2: a2+ b% Q}, Wel Q |+
fti derst Y= B, Al

Options :

40503640151, R TR Ry Il HohRTah 1

40503640182, K1 TFTTH € TG R, HapT T 2

40503640183, 2 THTHT 2 T R, HFHE Tl 2

10503640184, Rt T Ry F  HIE «ff Hobrreh il 21
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Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The set of all real values of A for which the
quadratic equations,
(A2+1)x2—4xx+2=0 always have
exactly one root in the interval (0, 1) is :
Options :
40503640185, (3 ~1)

40503640186, (0r2)

40503640187, (1-3]



(2.4]
40503640188.

Question Number : 52 Question Id : 40503611057 Question Type : MCQ Option Shuffling : Yes
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A I 3 Gl ardfas g 1 9q=,

feas  fay fgema @HiwTom,

(AN24+1)x2—4hx +2=0, =1 Fiaw« (0, 1) H
Options :
40503640185, (73 ~1)

40503640186. (0r2)

40503640187, (1+3]

(2 4]
40503640188.
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It z s Zp are complex numbers such that
Re(zq)=|z4— 1|, Re(z;)=|z,—1| and

arg(z; —2p) = % then Im(z;+zp) is
equal to :
Options :
V3
40503640189, 2
>
3
40503640190.

40503640191.



%

40503640192.

Question Number : 53 Question Id : 40503611058 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 4 Wrong Marks : 1
afE 2, T 2, &1 TH Wiy gE g, foee
AT Re(zy)=|zy—1|, Re(zy)=|z,— 1| T

arg(z; —2z,) = % g Im(z; + z,) ==
£
Options :
¥3
40503640189, 2
1
NG
40503640190.
? —
40503640191. 293
2
3
40503640192.

Question Number : 54 Question Id : 40503611059 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let A be a 3x3 matrix such that
2 1 1
adj A = 1 0 2|and
1 L)

I3

B=adj(adj A).
If [A| = A and |(B ~1)T|= p, then the ordered
pair, (|A|, p) is equal to :

Options :



40503640193, . S81J

i
(52
40503640194, . B81J
3
40503640195, & 81)
o
1
o=
-

40503640196. -

Question Number : 54 Question Id : 40503611059 Question Type : MCQ Option Shuffling : Yes
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AT A TH 3x3 ATHE g, faus fau

I3

T
adjA=|-1 0 2|4991 B=adj(adj A)
1 -2 -1
g1 afg [Al=x @4 |(B- 1T = &, @ wfE
TH, (N, p) TEE :
Options :

40503640193, . 81)

'
o
40503640194, . B1J
3
40503640195, & 81)
5 :
1
19,3
40503640196. - d
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Correct Marks : 4 Wrong Marks : 1

If the term independent of x in the
; (3 5 1 \? ;
expansionof | —x° — — | isk, then18 k

is equal to:
Options :
40503640197.

! |

40503640198, 9

40503640199, 9

40503640200. 11

Question Number : 55 Question Id : 40503611060 Question Type : MCQ Option Shuffling : Yes
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¥ 3.2 1 "
A | ~x® — & faer #, x 9 =69 78
\ L 22X )

ke d 18k =R T :
Options :
40503640197.

|

40503640198, 9

40503640199, 9

40503640200. 11
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If the sum of the series

20+ 19 % | 19% I 13% .. upto nth
term is 488 and the n'! term is negative,
then :

Options :

40503640201, =060

40503640202, N=41
2
nth term is —4=
40503640203, 5
n term is —4
40503640204
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Ife g

' 3 1 4

20+ 19 2 + 19= + 182 + ... [ nth T
5 5 5 -

T, AMTEE 488 T nth T2 WONEF T,
GIE
Options :

40503640201, N="060

40503640202, M=41
' 9
nthgg — 42 %
40503640203. 5
nth g2 —4%
40503640204,
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Correct Marks :

1
lim (a + 2x)?

4 Wrong Marks : 1

1
(3x)

r—a 1
3

— (a# 0) is equal to :
o

(3a + x) (4x)

Options :

I 2 '-,.j-;'

3)
40503640205.

I 2 ‘~.|']'!,'

40503640206, -2/ \3/

i 2 '-,%

l5)
40503640207.

ale;

305
40503640208.
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1 1
: a+ 2x)3 3x)3
iﬂlL 51 L 0 {arﬂjw%:
(3a + x)3 — (4x)3
Options :

40503640205. -~

40503640206. °

40503640207.



40503640208,

Question Number : 58 Question Id : 40503611063 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 4 Wrong Marks : 1
Suppose f(x) is a polynomial of degree four,
having critical points at —1, 0, 1. If
T={x e R|f(x)=f(0)}, then the sum of
squares of all the elements of T is :

Options :

40503640209. 4

I~

40503640210.
40503640211.

40503640212.
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A f(x), S 4 1 U 9g9% ¢ Foag -
fag —1,0,1 %1 AR T={xeR|f(x)=/(0)},
@ T F At Ta=al % 991 F1 AE € ;

Options :
40503640209, 4

I3

40503640210.
40503640211.

40503640212, B
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Correct Marks : 4 Wrong Marks : 1
If the surface area of a cube is increasing
at a rate of 3.6 cm?2/sec, retaining its
shape; then the rate of change of its volume
(in cm®/sec.), when the length of a side of
the cube is 10 cm, is :

Options :

40503640213, 10

40503640214, 9

40503640215, 18

40503640216, 20

Question Number : 59 Question Id : 40503611064 Question Type : MCQ Option Shuffling : Yes
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g 2794 ¥9 T 4910 TGd g0, TFH 51 F1 =
SFFA 3.6 cm?2/sec F1 5L H T @ T, 1 THF
AT F IHEdT & =X (em?/sec H), 99 =1
1 U ol Hi =g 10 cm €, @

Options :

40503640213, 10

40503640214, 9

40503640215, 18

40503640216, 20
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"

If jsin 1‘ ||I s
V1+x

\ g

dx=A(x)tan 1{1,;";] I

B(x) +C, where C is a constant of
integration, then the ordered pair
(A(x), B(x)) can be :

Options :

(x +1, —/x)
40503640217. '

fx 1, n":]
40503640218.

(x =1, —x)
40503640219. '

x—1, I
40503640220. [ v J
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EIE

h!

S
jﬁin 1‘ 1Hlll - ‘dx=f-"a{3£]tan I{u'{;‘JI

L X}
B(x) +C & W&l C U%F TusHeH 3R €, ol
FHT T (A(x), B(x)) & FehaT 2 ;
Options :

(x +1, —x)
40503640217. '

fx 1, x."';]
40503640218. '

(x -1, —/x)
40503640219. - i

[x 1, \fq]

40503640220. *
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If the value of the integral

s 2
——— dx
jﬂ (1 - x2)¥2

is 5, then k is equal to :
3]

Options :

23 +
40503640221, "

iy
40503640222,
40503640223, W2 =™

|? i

40503640224, N T
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/2 42

0 (1 Izjag

dx En"qufE
. 6

€ Wk TWRE:
Options :
40503640221.
40503640222.

40503640223.

40503640224. -
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If x3dy + xy de=x?dy + 2y dx ; y(2) =e and
x>1, then y(4) is equal to :

Options :

- e

M|

40503640225.

R =

40503640226.

bl

40503640227.

o .

s

[

40503640228.
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AT x3dy +xy dx=x2dy +2y dx ; y(2)=e
[ x> 1, T y(4) T E :

Options :

- Ve

K| W

40503640225.

R | =

40503640226.

S5

40503640227.

o

.
40503640228.
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If a AABC has vertices A(—1, 7), B(—7, 1)

and C(5, —5), then its orthocentre has

coordinates :
Options :
1’ 3 3)
40503640229, - 5 35)
' 3\,
40503640230. > 3
40503640231, (39

40503640232, (3, —3)

Question Number : 63 Question Id : 40503611068 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Ifs U Ay ABC & ¥iid fag A(-1, 7),
B(—7,1) 1 C(5, —5) T, T 3HF o a-F=5

ERECHIE A
Options :
1’ 3 3)
40503640229, - 5 35)
' 3\,
40503640230. > 3
40503640231, (39

40503640232, (3, —3)



Question Number : 64 Question Id : 40503611069 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let the latus ractum of the parabola yz =4x
be the common chord to the circles C; and
C > each of them having radius-zv'{g . Then,
the distance between the centres of the
circles C; and C, is :

Options :

40503640233, 45

40503640234, B

40503640235, 8v5

40503640236, 12

Question Number : 64 Question Id : 40503611069 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A% AT 2 = 4 FI AT Sia, 3 g,
C, W1 C, I Sl i &, wafer gl |
o 1 e 245 3, @ 9 C, T C,
Options :

q
*

40503640233, 45
40503640234, B

40503640235, 8v5

40503640236, 12

Question Number : 65 Question Id : 40503611070 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option



Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Let e | and e, be the eccentricities of the

o .

2 2
: L S
ellipse, i 1(b < 5) and the

2

o
=

.xE ,
hyperbola, — ooy respectively
: | G )

satisfying e;e,=1. If a and B are the
distances between the foci of the ellipse and
the foci of the hyperbola respectively, then

the ordered pair (a, ) is equal to :

)
(2, 19)
5 )

40503640237. *

Options :

40503640238, (8- 10)

(20
2 1)
40503640239, /

40503640240, (& 12)

Question Number : 65 Question Id : 40503611070 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
2 2

A defga, L4 L —1(b < 5) aem
v T

b 2 L .
Afewaea X - Y —1 %1 sen=a”

16 B2

FHI: ¢, Tle, T M eje,=1 71 AR <ega
AR AfTREerd F AFH=1 & 949 F A
FAM: o T B F, T FHET T (o, B) TR
g

Options :



40503640237. *

40503640238, (8- 10)

40503640239, * ° /

Y
40503640240, (812)

Question Number : 66 Question Id : 40503611071 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The plane which bisects the line joining
the points (4, —2, 3) and (2,4, —1) at right
angles also passes through the point :
Options :
40503640241, (+0-1)

40503640242. (40, 1)

40503640243, (& ~ L1

40503640244, (0.1, —1)

Question Number : 66 Question Id : 40503611071 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

g gHad, 9 g 4, —2,3) 99 (2,4, —1)
=+ e 9l 9 T H T gaig e
= 2, Tt 8 A T famg @ ot S s 87
Options :

40503640241, (&0, 1)

40503640242. (4.0, -1)



20503640243, & L)

40503640244, (0.1, —1)

Question Number : 67 Question Id : 40503611072 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let x, (1 = i = 10) be ten observations of a
10
random variable X. If » (x; — p) =3 and
i=1
10

¥ (=

| 1

i=1

p]z =9 where 0 = p€ R, then

the standard deviation of these
observations is :

Options :
g
40503640245, 10
7

40503640246, 1V

Lﬂ||—l-'-1-.

40503640247.

\5

40503640248.

Question Number : 67 Question Id : 40503611072 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



HA g2 =R X 59 94 x. (1 <i < 10)

10 10
13 S (r; —p)=3 MY (; —p)* =9,

=1 =1
SEfE 0% peR T, @ 5T VI H AEE
e &

Options :

40503640245.

40503640246.

40503640247.

40503640248.

Question Number : 68 Question Id : 40503611073 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The probability that a randomly chosen

S-digit number is made from exacf_[}-' two

digits is :
Options :
121
1
40503640249, 1V
134
104
40503640250.
150
104

40503640251.



135

- |
40503640252, 10

Question Number : 68 Question Id : 40503611073 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A=A AT TE U SR F U G F A
S Sl I IS TS S I WA E
Options :

499

il
40503640249, 1V

134

4

40503640250, 10
150

4y
40503640251, U
135

and
40503640252, 10

Question Number : 69 Question Id : 40503611074 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Leta, b,ce RbesuchthataZ+b2+c2=1. If

A
[

27 | (
acosl!=hcos1 6 4 T|=cc051li I P
=) \ 3 J

r

where 0 = g, then the angle between the

vectors ai +bj +ck and b1 +cj +ak
15 :

Options :



N
t-

40503640253.

40503640254, U

a0
40503640255, 2
i1
40503640256. 9

Question Number : 69 Question Id : 40503611074 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

mmahcemﬁﬁ%ﬁm£+ﬁ+@=1%

I_.-' 7 .-'
= acost=bcos| B+ =— ccm H+
J

B J
aaﬁﬁuzzgi%j%;mﬁﬁaf |h} - ck @

bi 4 c.j Fak ST TR E
Options :

“J
=

40503640253.

40503640254, U

a0
40503640255, 2
i1
40503640256. 9

Question Number : 70 Question Id : 40503611075 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Let p, g, r be three statements such that
the truth value nf.{p AqQ)— (~q v I)is
F. Then the truth values of p, q, r are
respectively :

Options :

40503640257. T, T, T

40503640258, F, T, F

40503640259, 1. T, F

40503640260. 1. E. T

Question Number : 70 Question Id : 40503611075 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

g p, q 741 r TH 0 & € fF Fo9
(PArq — (~qv1) FTUFEEAF & @
p,q r % FAY: TEAA € :

Options :

40503640257. T, T, T

40503640258. F. T, F

40503640259, L. T, F

40503640260. 1. F, T

Sub-Section Number : 2
Sub-Section Id : 405036772
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 40503611076 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0



Let S be the set of all integer solutions,

(x, y, z), of the system of equations
x—2y+5z=0

—2x+4y+z=0

—7x+14y+9z=0

such that 15 = x2+ yz + z2 = 150. Then,

the number of elements in the set S is equal

to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 t0 5.002

Question Number : 71 Question Id : 40503611076 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
x—2y+5z=0

—2x+4y+z=0

—7x+14y +9z=0

& Uit gl (x, y, z) A=A S T, foh

AT 15 < 22442 + z2< 150; W S & AT

FHENT L

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 72 Question Id : 40503611077 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The total number of 3 - digit numbers,

whose sum of digits is 10, is

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 72 Question Id : 40503611077 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

i s A wEmsd, for s A
10 &, 1 Fol HE&AT & |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 73 Question Id : 40503611078 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If m arithmetic means (A.Ms) and three
geometric means (G.Ms) are inserted
between 3 and 243 such that 4t A M. is
equal to ond G M., then m is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 73 Question Id : 40503611078 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Ifz 3 991 243 F =99 m THFE A1 9971 9
TR 15T 59 TR = 0§ fo S T
e gEL U {1 % SE §, ol m aE

o |



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 74 Question Id : 40503611079 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0

If the tangent to the curve, y=e* at a point
(c, e*) and the normal to the parabola,
L.rz:-lx at the point (1, 2) intersect at the
same point on the x-axis, then the value of
cig____

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 74 Question Id : 40503611079 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

afe =, y=e* % fag (c, e°) T 791 @ a4
TWEed y2=4x & a5 (1, 2) T Afer= SHi
x-31%1 F UF & fag | T 9 €, i ¢ T A

T |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 75 Question Id : 40503611080 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0



Let a plane P contain two lines

M, i

e

r =; Ih[_; I j:],hr:l{ and

o

r = ; |I~LIJ i.},M&R.

[f Q(a, B, v) is the foot of the perpendicular
drawn from the point M(1, 0, 1) to P, then
ot B+ vy) equals

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 75 Question Id : 40503611080 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

A F1 T
LR jl, A e RTE

= )rlp,[; ;('_],}.LER,TEWP
R fem ¥ Ak fag M(1,0,1)  99aa P R
e MY T F UE, Y Qo B y) B @
a+p+y) TR E |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
Possible Answers :

5t05.002



